

2024-25 Graduation Dropout Entity Breakdown Marquette-Alger Regional Education Service Agency (52): All Rate Years / All Students

Location Name	Rate Year	Cohort Graduation Year	Total Cohort	Total Graduated	Other Completer (GED, etc.)	Off-Track Continuing	Dropouts	Graduation Rate	Dropout Rate
Statewide	4-Year	2025	115,489	97,018	1,310	8,927	8,234	84.01%	7.13%
Statewide	5-Year	2024	115,101	98,737	1,115	4,024	11,225	85.78%	9.75%
Statewide	6-Year	2023	115,173	98,634	1,375	2,404	12,760	85.64%	11.08%
Burt Township School District (02020)	4-Year	2025	<10	<10	<10	<10	<10	100.00%	0.00%
Burt Township School District (02020)	5-Year	2024	<10	<10	<10	<10	<10	66.67%	33.33%
Gwinn Area Community Schools (52040)	4-Year	2025	59	51	<10	<10	<10	86.44%	5.08%
Gwinn Area Community Schools (52040)	5-Year	2024	47	43	<10	<10	<10	91.49%	4.26%
Gwinn Area Community Schools (52040)	6-Year	2023	49	43	<10	<10	<10	87.76%	6.12%
Ishpeming Public School District No. 1 (52180)	4-Year	2025	55	40	<10	<10	<10	72.73%	10.91%
Ishpeming Public School District No. 1 (52180)	5-Year	2024	63	56	<10	<10	<10	88.89%	7.94%
Ishpeming Public School District No. 1 (52180)	6-Year	2023	47	39	<10	<10	<10	82.98%	10.64%

2024-25 Graduation Dropout Entity Breakdown Marquette-Alger Regional Education Service Agency (52): All Rate Years / All Students

Location Name	Rate Year	Cohort Graduation Year	Total Cohort	Total Graduated	Other Completer (GED, etc.)	Off-Track Continuing	Dropouts	Graduation Rate	Dropout Rate
Marquette Area Public Schools (52170)	4-Year	2025	273	256	<10	12	<10	93.77%	0.37%
Marquette Area Public Schools (52170)	5-Year	2024	257	244	<10	<10	<10	94.94%	1.56%
Marquette Area Public Schools (52170)	6-Year	2023	253	231	13	<10	<10	91.30%	2.37%
Munising Public Schools (02070)	4-Year	2025	48	43	<10	<10	<10	89.58%	2.08%
Munising Public Schools (02070)	5-Year	2024	36	35	<10	<10	<10	97.22%	2.78%
Munising Public Schools (02070)	6-Year	2023	46	42	<10	<10	<10	91.30%	8.70%
Negaunee Public Schools (52090)	4-Year	2025	111	108	<10	<10	<10	97.30%	0.00%
Negaunee Public Schools (52090)	5-Year	2024	87	80	<10	<10	<10	91.95%	4.60%
Negaunee Public Schools (52090)	6-Year	2023	99	98	<10	<10	<10	98.99%	1.01%
NICE Community School District (52015)	4-Year	2025	112	101	<10	<10	<10	90.18%	3.57%
NICE Community School District (52015)	5-Year	2024	84	74	<10	<10	<10	88.10%	7.14%

2024-25 Graduation Dropout Entity Breakdown Marquette-Alger Regional Education Service Agency (52): All Rate Years / All Students

Location Name	Rate Year	Cohort Graduation Year	Total Cohort	Total Graduated	Other Completer (GED, etc.)	Off-Track Continuing	Dropouts	Graduation Rate	Dropout Rate
NICE Community School District (52015)	6-Year	2023	74	70	<10	<10	<10	94.59%	5.41%
Republic-Michigamme Schools (52110)	4-Year	2025	<10	<10	<10	<10	<10	100.00%	0.00%
Republic-Michigamme Schools (52110)	5-Year	2024	<10	<10	<10	<10	<10	100.00%	0.00%
Republic-Michigamme Schools (52110)	6-Year	2023	11	11	<10	<10	<10	100.00%	0.00%
Superior Central School District (02080)	4-Year	2025	16	15	<10	<10	<10	93.75%	0.00%
Superior Central School District (02080)	5-Year	2024	17	16	<10	<10	<10	94.12%	5.88%
Superior Central School District (02080)	6-Year	2023	22	22	<10	<10	<10	100.00%	0.00%
North Star Montessori Academy (52901)	4-Year	2025	<10	<10	<10	<10	<10	N/A	N/A
North Star Montessori Academy (52901)	5-Year	2024	11	<10	<10	<10	<10	81.82%	18.18%

2024-25 Graduation Dropout Entity Breakdown Marquette-Alger Regional Education Service Agency (52): All Rate Years / All Students

Location Name	Rate Year	Cohort Graduation Year	Total Cohort	Total Graduated	Other Completer (GED, etc.)	Off-Track Continuing	Dropouts	Graduation Rate	Dropout Rate
North Star Montessori Academy (52901)	6-Year	2023	<10	<10	<10	<10	<10	75.00%	25.00%
Marquette-Alger Regional Education Service Agency - District created from ISD (52000)	4-Year	2025	10	<10	<10	<10	<10	N/A	30.00%
Marquette-Alger Regional Education Service Agency - District created from ISD (52000)	5-Year	2024	17	<10	<10	13	<10	N/A	11.76%
Marquette-Alger Regional Education Service Agency - District created from ISD (52000)	6-Year	2023	<10	<10	<10	<10	<10	N/A	16.67%

Some percentages may not add to 100% due to rounding.